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INSTRUCTIONS TO CANDIDATES
Read the following instructions carefully
before you answer the questions on Answer
Sheet :-

1. Write Roll No. as given in admission
card on this Question Paper as well as
on the Answer sheet.

2. Write all the Nos. in English numbers
only. Write only one digit in one block.

3. This question paper contains 100

questions. All the questions arc

compulsory. Each Question carries one
mark. ;
P i



4, R G8 IW H Uk 3tk ggF feran smam)

5. =6 ugA-u & 3ifom Ut T & ford faan
1 gl

6. I A Al :
I 27 & fT 3f. o, 3T, IW U= | watta
vy & o | fod TR =R Ml § 8§ Fae
Tl & QU e il

7. IR AThd &E & fo10 Faet e /e aid-
g UA 1 T4RT A

8. frtt wehr & Fergiet, @ et a1 3

Tt IYTUT, RIATSA T TS &t Sran
afetd gl

9. YediHA UG -
U W9 & IR @HIiad IW g, I A Th
IW EE 2| I H T IW 3ifeha FA A TH
3ieh TR 2| afe v | Saer et e T
T @t ag " s foh afienedi o av @
T I TE e B 3R I S 37 T oA
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10. 3w vie deres = digan -

diereh hl IW Yite HivA & Tget ghfvaa &
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anfe Pt e W dew-diw W g

11,3 vtz % 3qa & g -

I 1 TENT S GO git oig | weadrn
| W e, "I U1 Fede usH § T 7
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12. uan wlien & =15 W wws e @ e
difsra

13. srgantea frerm # siat & 33 Rt ot forarg
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B-2
Every correct answer will be awarded
one mark.
The last page of this question booklet
is meant for Rough work.

Method of marking Answer -

To answer a question, pleasc darken
one bubble out of the given four, in the
OMR Answer Sheet against that
question.

Usc only Black/Blue Ball-point Pen to
mark the answer.

Use of any calculator, Log tables or any
other clectronic Gadgets, Mobile
phones is prohibited.
Valuation procedurc -

There are four alternative answers to a
question, only onc of them is correct
answer. If more than onc bubblc arc
darkened for a question, it will be
presumed that the candidate does not
know the correct answer, hence, no
inark shall be awarded.

Handing over the Answer Sheet to
Invigilator -

Plcasc ensurc that all entries in the
answer shect arc filled up properly i.c.
Name, Roll No., Signature, Question
Booklet No., ctc.

Care in Handling the answer sheet -

While using answer sheet adequate carce
should be taken not to tear or spoil duc
to folds or wrinkles.

Please rcturn Answer-Sheet to the
invigilator after the test.

English version of the question paper
will be considered as final in case of
any dispute arising out of variation on
translated version.
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e : ww i 1@ 10 o v Sof & wg @ Regdd | Direction : In question no 1 - 10 there is a missing
T €O g g ) 39 vwaEs & w9 § quia number shown by question mark (?). This term
mar Yl R @ wn Rt § @ wd dem g is one of the following four alternative given.
. & ¢+ 9 Choosethecorre t number. 'i‘
7,8, 11,16, 23,2 1) O‘d)ﬁﬁ Y
(A) 31 m‘)/le B) 32
(C) 37 D) 40 (C) 37 -\(D) 40
% 6.9 B4 1877 2 60 12/}@ 9
21 B) 20 (A) 21 B) 20
<© 19 D) 22 © 19 D) 22
2, E 150_. io, 00, ? 3)  2,5.10, 50,500, ?
(A) 5 (B) A 5 B) 10
@) 50 @o/ 25000 () 50 D) 25000
AR gh
3.6, 18.72.7 Sa 4) 3,6,18,72,7 |
(A) 144 i?/zm (A) 144 B) 216
(C) 288 Y 360 (C) 288 (D) 360
@ 6 12.20. 2 . 5  2,6,12,20,2
” M‘“ ) 30 (A) 28 B) 30
(C) 42 (D) 48 <€ 42 (D) 48
m\( v.:20,27 6) 2,5,9,2 20,27
-em/4 ® 16 @) 14 ® 16
(D) 24 C) 18 (D) 24
" :’( 0) %) vy
1. 4"\9 16, 25, %6, 2 \ 4O 7 1,4,9, 16, 25,36, ?
(A) 48 M (A) 48 B) 49
(C) 52 D) 59 (€ 52 (D) 59
_fj) 5. 1{)’%35 2 8) 5,15, 45,135,2
' (A) 406 (B) 5 (A) 406 (B) 405
407 h 408 (C) 407 (D) 408
%ﬁ% 92 9) 3,4,9,16,27,°
(A) 64 46 (A) o4 B) 46
(C) 48 D) 70 (C) 48 D) 70
N .
3y \
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10)

11)

12)

13)

14)

15)

16)

17)

18)

NE-10001 (Part - I)

2
&%Qﬁ §r,
2,5 11,23, 9 Il
A 47 - (B) 48
(C) 49 50
gf2 GOLD & [QNF & wu ¥ foran s 8, @1 36t
2 i WIND @ & forerr st 2
(A) YKPF (B) XIJOE
(C) VHMC (D) DNIW

g D=4, BAD=07, & ANT S aR &I gm? |
(A) 8 B) 17
(C) 35 D) 37

'KITE' ®! weh gevmar #f 'JHSD' foran an €, )
'STRONG' =t 3&it srewman 4w feran e ?
(A) RSQNMF (B) SRQNMF
(C) SRNQMF (D) RSQRSQ

aft 'HEMA' =1 g 7ar 27 &, 7t 'VELU' @l
g TR T ERT ?
(A) 56
(C) 54

(B) 42
D) 60

afe RARE # SBSF & wu ¥ foran @ &, @t
'AREA' @ 36t 63k 3 SR 4 foven s ?

VELD
B-2
) % 511,232
(A) 47 B) 48
(C) 49 D) 50

In Gertain language GOLD is coded as IQNF,
how is WIND is coded in that language?

(B) XIJOE

(D) DNIW

/13y’ 1fD = 4, BAD = 07, then what will be the
value of ANT?
@A) 8 ®). 177 p= 24
&Y 35 O 37

) In a certain language 'KITE' is written as

".'I?SD', how is'STRONG' is coded.
)

RSQNMF (B) SRQNMF
(C) SRNQMF (D) RSQRSQ

If code of ' HEMA'is 27, then code of "VELU'

will be?
(A) 56 B) 42
(©) 54 @Oy 60
“;) If, RARE is written as SBSF then'AREA' will
be written as -
(A) FSBS (B). BSBF
:j) SBFB BSFB
16) \Find the odd man out -
en (B) Pencil
) Student (D)  Sharpner
% Find the odd man out -
E‘};)(Car (B) Bus
Scooter (D) Jeep -

Find the different term -
(A) Petrol - Car

(B) Electricity - Television
- Pen

(A) FSBS (B) BSBF
(C) SBFB (D) BSFB
frer o @ Formr B gl -

(A) @ (B) e
(C) Tremeit (D) IR
o 1 @ o e g -

(A) =R B) ==

C) == (D) s

3T Ug T g -

(A) g -

(B) o - 2o

(C) =w@-w

(D) Y&t ~ S FAR

(C) In
Dust - Vacuum Cleaner

[4]



i o
19) sewug @i ghE - ﬂ’/ yd
(A) W B) fem L
(C) o D) R
20) frwugwgea -
(A) 24 B) 60
(C) 124 D) 210
21) af ‘gfora’ @ ‘Fiere g, Pees @ ok,

‘TR W iR, ‘Sieed @ ahe, adhe

W T, A FGRE] S g ?

GV (B) ==

(C) b (D) ===
22)  af Fedwiefies s wer @ T, ® @ g
e & e g W, A ST foh W g
SEnEm?
(A) ==
(C) en

(B) den
D) =

fdw : w. €. 23 - 25 of} feedt =i v
i) tik jik pik =t 3 § she is good

ii)  pik ne pea %1 3 § good and bad 3k
iii)  se ne pik % 3¢ § ram and good & WAL -
23) good wEHETFNE?
(A) pik B) ne
(C) pea ) jk A
O
24) andwHTFENY? =
(A)  pik B) ne
(C) se (D) tik
25) Ram = fore vreg & weraag frnman 2
(A) ne B) se
(€) pik (D) pea
26) Td e qd g Sl Al g geAra | IR T
oft| 2| e U IR S GAraAT § QUL R S
I G Y 3G w2
(A) 20ad ®) 104
©) 30md ©) 15

NE-10001 (Part - I)

v B-2
[ i‘»/ Find the odd term - -
March (B) December
C) July (D) September
Find the odd term -
4 B) 60
124 D) 210

If 'Police' is called 'Teacher’, 'Teacher' is
'Politician’, "Politician' is 'Doctor’, 'Doctor’ is
'Advocate', 'Advocate' is 'Surgeon', then who
will catch the criminals?
(A) _Police

Teacher

(B) Advocate
(D) Doctor

In certain language, 'Red' is written as 'Green',
'Green' is 'Blue', '‘Blue' is 'Yellow' then what
will be the colour of Blood?

(A) Red (B) Yellow
(C) Blue Green

Direction : Q. No. 23 - 25 In a certain language if
i)  tik jik pik means she is good,

i) pik ea means good and bad,

iiii) e pik means ram and good then -

‘\Yat is the code of 'good'?
) pik (B) e

J(C) pea D) jik
. X
24) What is the code of 'and'? [
A) pik @/ ez
) se (D) tk (
What is the code of'Rar:y _25'
(A) ne se
(©) pik (D) . pea

10 years ago age of Sulochana's mother was 4
.| times the age of Sulochana. After 10 years her
" age will be twice of Sulochana's age. What is

[5]

the a Sulochana today.
(A)_/ 20 years (B) 10years
30 years (D) 15years

P.T.O.



27)

28)

29)

30)

31)

32)

33)
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B iR TEs AT R Ag H 30 T ARl 7 ﬁ\%? The difference between the age of Rahim and

e, afy S & 3G w1 AR 66 ad g, a = &t

g A E?
(A) 51 (B) 49
(€ 39 (D) 41

o Ea & R T 7 3 S U e W e T 5
3 vam § 2 we T 38 W @) 36k A TG
TR HeRl h FE FA G ?
A) 2
(C) 4

B) 3
®O) 6

forery | i e e 60 iz T U % Y W ued
e, 4t o v e H 3 e I § S 2
e iR s g ?

(A) 60 &=vE
(C) 58Emvs

(B) 50 %mws
(D) 57%=ve

Ty B o o e, vt weh g3 sl <Rt we,
Tt Sl & i T ot af 98 et 68 I e |
30 @ oot e A ?
A) 17
(C) 34

B) 16
D) 18

ofe udl 3 wwa 6 : 20 7w fifie R g swgE
forgn <Rt 3T 39 @ 1, A wve R g o fgen R
FHR SR HT ?
(A) ufvaw

©) =

(B) =R
(D) sw-ufyem

Qaazﬁgan-ﬁlwéﬁl%ﬁ’fmﬁlgﬁm%ﬁ%ﬁ
ae 20 ffie fsm e 21 9 =asa e 3.5 et
&1 gl 7 e § 30 fehe wwa (auel H) e
(A) 14 B) 13
© 15 D) 12

5 a1 5 fafie w o i ggai fma sorw gh
A E?

(A) 72.5°
(C) o4°

B) 67.5°
(D) 58.5°

B-2

his uncle is 30 years. 7 years ago the sum of
both's age was 66 years, what is the age of

uncle? 19/
A) Sl 49
©) 39 D) 41

The price of an orange is T7 and the price of a
watermelon is Z5. Shyam has purchased both
fruits in ¥ 38. What is the number of orange

B

purchased by him?
A) 2 xsa/3
) 4 D) 6

In what time a monkey will reach at the top of

60 feet pole, If he jumps 3 feet in a second and

drops 2 feet at the same time.
60 sec. B)

(©) 5|8 sec. (D)

50 sec.
57 sec.

amesh got some mangoes, in which no. of
ripe mango was thrice the number of raw
mangoes, if he got in total 68 mangoes, then

how maffy out of them were raw?
A B) 16

D) 18

he present time in the watch is 6 : 20. The
minute hand is in North East direction, Then
what will be the position of hour hand?

(A) West (B) /South-East

(C) East '/D\“ North-West
n
Wl ® ’(\
A tourtoise travel 1 k.m. in4 hours. After every

k.m. he rests for 20 min. Identify the time taken
by him to travel 3.5 k.m. distance (In hours)?

») 14 B 13
o 15 Y %D 12 SP’ER/DI
: &

33) At5: 15 Hrs. what will be the angle betwéen
the both hands of the clock?

(A) 72.5° (B) 67.5°
\@/ 585> %

(C) o4°
)

=

(6]
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* ypg
N

34) i 8 : 30 79 R gt 3 e

?
g{% 90° ® 71 %
) 60° D) 85°
to
35) 'ﬁmﬁmﬁm% Al e § i fan uget i an fem
A) qgwﬁan (B) wmwar 3(

A W

36) gfe 7-4-1=714, 9-2-3—932??:

Bl
(A) 804 (B) 840
(C) 408 (D) 480
37) 44 x75=7454
34 x 65 = 6453 %
24 x 55 =5452
14 x45="2 / . 5
(A) 4432 B) 4462
(C) 4342 (D) 4451 oy xy
w3
38) ﬁn%f@aaﬁaﬁmﬁ@m%sﬁﬁﬁm
ugel 7R e S g W SR 22
783785127833478256683
A) =
(C) = (D) L
39) wEH 649275 8% el l HARE s TR
ST, A e atent v saiafia g e '
(A) wh B) @&
(C) = (D) =
40) Frafifan sien seen # fea 9 W E, st 2 A g
TEA A 3 F A AR E ?
39243923939239293
(A) =& B) w
C) @ (D) @ ol

1 6%

1'1
-+

T 0B2

What would be the angle between the needles
of clockat 8 : 30 PM in the evening?

1_5 = "ao

0° B) 75°
60° (D) 85°
Ifthe day for day after tomorrow is saturday.
then what will be the day three days before the
tomorrow?
io . (A) Thursday SS)/‘ Monday
C) Saturday y@®) Sunday

If7-4-1=714,9 -2 -3 =932, then

W 40

(D) 480

R Q=
(A) 804 _
(C) A08

4 x 75 = 7454
4% 85 = 6453
24 x 35 = 5452
14%35=? YnG \
(A) 4432

) 4342

-
-

In the following number series, how many 8 are
}here before that there is 7 but after the 5 is not
1

4 here - .

A 83785127833478256683
ne (B) Two
Three (D) Four

\ L3 “5 '1 ,
5 8 are written

39y Ifthe digits of number 64 9 2
in ascending order then how many digits will O\b
remajn constant?
One (B) Two (). (
( Three (D) None

n
n the number series how many 9 are there, before
them. There is 3 and after them there is 2.
39243923936239293
(A) Zero B)
(©) Two

ne
More than 3.

NE-10001 (Part - I)

[7]
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41)

42)

43)

44)

45)

46)

47)
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o} et sigen =i 32 s # foran s, A FF @
JHeh i | <A g ?
7,3,9,7,0,3,8,4,6,2,1,0,5,11, 13
@A 9 ® 7

©) 5 ®) 0

FrforRaa sjeren 3 ¥ frad srer €, < S s emaR
fram e

GOSSRGMLGTOPQQRPPSOG
TLGP
A) 3
© 1

B 5
D) 2

Cumig AsiRBRaR Dufag B, @ Camg
D#i?

(A) =
(C) wm

(B) ==
(D) =&

e IRl S R $IRT el B I 4 <, g Wt
Toren B e af v gt 17 g widen e @
o yrr waEftm §?
(A) war
©) =&

(B) gau
(D) FHi=E

afe EODGH, ®g 2 BLADE e CRICKET
= HIZ TN ?

(A) FULFNHW

(B) FLUNFWH

(C) FULFNWH

(D) None

DESK @ @ig @ grm afd; KITE® % 2 $ #
foran s g e STUD = @ $ 57 fovenwman & -
(A) 8%O# B) ©8% #
©C) #7%@ D) 7#@%

qqfa 'A'Eﬁ Illﬁwm, 'B'ﬁ 'Z'ﬁmﬁﬁ
IR e AR 'Z' o w aet o 16 126! A seen R

A, v DECAY &1 <irg @1 gnm —
(A) 38 (B) 41
©) 40 ®) 37

If the following series is arranged in opposite
direction then which number will be 4" from

the left?

/7,3,9,7,0,3,8,4,6,2,1,0,5, 11, 13

© 5

In the following number series, how mdny
numbers are written twice?
GOYSRGMLGTOPQQRPPSOG

TLGP
®) 3 ®) 5
) 1 e\ @9

L R
43)/ Cisthe mother of A and B. If D is husband of

B, then what is the relation between C and D?
_ Mer (B) Aunt
Y~ Motherinlaw (D)  Sister

Pointing towards a women Simon told that she
is the daughter of only sister of my father. How
that women is related with Simon?
(A) Mother
(B) Father's sister/aunt (paternal aunt)
(C) Sister

7~ Cousin = daughter of paternal aunt/

Daughter of Father's sister

If EODGH is code for BLADE; what is the

code for CRICKET? _

(A) FULFNHW , }‘( S

®y" FLUNFWH A RE D
(C) FULFNWH,

(D) “None

6) Whatis the code of DESK if KITE is written

as % 2 $ #and STUD is written gs @ $ 57.
A) 8%©O# (B) 8% #
©€) #7% @ TH#@%

) If'A'is subqtmlted by L, ‘g' by 2 and upto 'Z’
which is '26', what will be, the sum of the

z;z?bers for the word DECAY?
38 (B) 41

(C) 40 D) 37

[8]



48) ufe www’ = @i’ wE WA, e’ W g wg
S, AT WS S, S frem s

T, “Rrete’ @l “aien’ s WE, i w T’

maﬁa‘rm‘m@%ﬁﬁwuﬂ?ﬁ@‘n?
(A) =g B) =m
(C) v (D) =&

49) ferelt 5z w1 & wft ROBE =t 5136 foren o,
BIND =1 3792 fer@n =i, @t RIDE & &3 vt
s S,

(A) 5276 (B) 5726

©) 53762 @JED) 5326

BC[)

50) uﬁ%ﬁﬁ'?ﬁ*fﬁ‘mm,yﬁiﬁ‘aﬁz'm
W, “Wie’ Wl uie’, g W 3 Uiz’ Y Freer
T T Al s sfer gl 23 ?

(A) wdie (B) =ik

©) = (D) et

46 BTl St wen | i W E IwA 126§
IR = | T = |
(A) 34
(©) 36"

51)

(B) 351[1
(D) 37I]|

Uk g H uTel eigent ¥ T foran| weiin s e o
& uget W fif & wg s o w v whia %
UE W] Hifge % w1 | g # @i shar?
(A) wEir (B) fuf&

(C) wifga (D) gwm

Fdw : ww waiw 53-65 % R @ weht W §
& gvaraw fag Ran man 3, R ™ ww R
ﬂﬂwﬁmaﬂﬁuwﬂmi,ﬂmﬁi::ﬁa
& wif i R el & wew 1wt e gf

52)

53) wreh:ewEr: et 2
(A) @mm (B) ==
€) =i D) e
54) AB:ZY::CD:?
A) XY B) WV
©) WX D) XW

NE-10001 (Part - I)

[9]

If 'Spoon' is called 'Plate, 'Plate' is called
Knife', 'Knife' is called 'Jug', Jug is called

'Glass', 'Glass' is called 'Saucgr' and 'Saucer' is
called 'Spoon', by what do yfu cut fruit?
(A) Spoon ﬁ Jug

(C) Glass (D) Saucer

Ina certain code ROBE is written as 5136 and
BIND is written as 3792. How is RIDE written

in that code?
(A) 5276 Ws
(C) 5376 (D) 5326

[f'table' is called 'chair', 'chair' is called 'cot’,
‘cot' is called 'pot' and 'pot' is called 'filter’,
where does a person 'sit'?

- (A) Pot
(C) Chair

) Cot
(D) Filter

Anita ranks twelfth in a class of forty six. What
will be her rank from the last. }

4I]I (B) 351h
(C) 361I1 (D) 37lh

>3

—

11(,

Five boys took part in a race. Prabir finished
before Mohit but behind Mihir. Suresh finished
before Sanchit but behind
the race?

(A) Prabir

{': (C) Mohit (D) Suresh

M":" §
S 2

Direction : In question no. - 53-65, there 15 a

question mark in blank space and it is only one of
the four alternatives given under the question
which satisfies the same relation as is found
n two patterns to the left of the sign : : given
question. Find the correct alternative -

J
J
/
i

N er: Leather: : Tailor: ?
A) Thread (B) Cloth
(C) Shirt (D) Button
5 ABIZY :CD 7
A) XY By
(C) WX ) XW

P.T.0,



o

56)
57)

58)
59)
60)

61)
62)

63)

64)

125:5::64:2 (B)/
@A) 2 4

C) 8 (D)
JAYNOT : WA : 2 T ?
(A) B)
(C) vl (D)
1:820:27:7

(A) 37 (B)
©) 57 D)

el : o ¢ Tafgan: 2

(A) = B)

©) ﬁ'""" D)
W S :?fl?;ﬁ: ?

(A) # - (B
©) w@ D)
g Wevg e e ?

(A) S (B)
C) = D)

LIS : WigTet ¢ 2 [ 1 ?

(A) TRIR (B)
(C) TR D)
WA ; ® Ul A4 7

(A) =R B)
(C) w== D)
oraTviey ; anaw ¢ ; feee 0 ?
(A) TEH B)
(C) yhaitem D)

TS A R A L 7
(A) = (B)
(C) e (D)

NE-10001 (Part - I)

16

W
que

47
64

%4

-

TG
oL
e

gl

forega g

qeh
%‘T{

5
Nt
£

o

!

]

{

=~

62)

64)

[10]

}Madh
Gandhinagar

125:5::64:?
Aa) 2
(€ 8

B-2

.

(D) 16

Jeweilcry Gold : : Furniture : ?

Wood
zﬂ

(C) 3?

Fish : Water : : Bird : ?
(A) Water
(C) Food

(B) Tree
(D) Paint

(B) 47
(D) 64

(B) /" Sky
Air

?Iig@ét:Win::G_y_ig_f::?
Joy (B) Farsh

(C) Sorrow

(D) Defeat

Time : Second : : Power “’:‘B/
] Watt

(A) Joule

‘6@%/ Newton

(D) Litre

Pradesh : Bhopal : : Gujarat : ?

(C) ~ Ganganagar

India : Rupee : : Japan :

(A) Dollar
(C) Rubal

(B) Gangtok
(D) Gandhipur

D]

en
(D) Piso

~

Thermometer : Temperature : : Seismograph : ?

(A) Temperature
(B) Humidity

(C)/ Earthquake Intensity

Electric current
Aeroplane : Hangar :
(A) Home
(C) Almirah

: Cloth:?

) Shop
(D) Hanger



&

65) wfa e : ez : 1. &t Ry 2 2
(A) wehrea
(B) A
(C) Tonre
(D) wieen frre

3w - w. ®. 66 - 69 ¥ yAF uw # 7 ywR N
Tl % wyp AR W {) awe AR R R Ww
wuifh® NG | A IA Th ARG & Fd &0 ¢,
Wifs we & Ry m @6 =il & wgg & weu W @@
w9 # el s § -

(9©@,& @D

66) Tz, vifeh, wm
(A) a B) b
©€) ¢ O d
67) sit|, 9=, U
(A) a B) b
€ ¢ O d
68) =faey, J&Y, HeEl
A) a B) b
€ ¢ D) d
69) drFn, g, =i
(A) a B) b
©) ¢ D) d

NE-10001 (Part - I)

[11]

N4
%@/ B-2

Sac il},T ndulkar ; Cricket : : P. V. Sindhu : ?
vz/ Badminton

(B) Hockey

(C) Cricket

(D) Women cricket

Directions : Each of the following question
No. - 66-69, four type of figure (a), (b), (c) & (d)
were given. One of the figure type represents
the relations of 3 type of things. Select the right
answers.

Oo@@zz@

@ ©) @
AQQ Scienee, Physics, Chemistry
*ef ® b
\ © ¢ D) d

Organism, Human, Planet
(A)

) b
D) d
®/ Doctor, Man, Actor
(A) a %(Il;)/
d

©)/c
) /Gold, Ornaments, Silver
d

€ ¢
P.T.O.



70)

forma frfara A e Qo € 2

71)

72)°

73)

74)

75)

NE-10001 (Part - )

B-2

=70) How many educated people are employed?

[:ducated Employed

Rural -~
18 B) 26
(A) 18 B) 26 (C) 24 O) 1
(C) 24 (D) 1
afy —w AU X, X wmAd g+, ‘+'a;|3123%‘\}|’4'—' is equal to ‘%', ‘<" is equal to *+', “+' is
U RAR Al - equal to ‘=", *+" isequal to “~then -
40x12+3-6+60="7
©) 76 D) 4 @), 44 S
J?ﬁ (D) 4

TR T I TR HEl I e Ugd — Fill in the blank and find the correct answer -
31-4-2-1=30 31-4-2-1=30 ol
(A) Kooy X (B) 5 ™ (*1' T (B) =] +5 =
©) +~x D) =+t CF +=% 5%
w8 Fe g - Choose the right

MOEAS S IJTZ M O E A S J T Z

3 57 6 2 9 4 0 3 57 6 2 9 4 0
(A) 7620 (B) 7623 620 B 7623
(Cy 7624 (D) 7625 \C 7624 (D) 7625
freafRaada s aadi g - ,99 ] Choose the right one out of the following :
96* 6% 8 %2 f{%’ 96 * 6% 8 %2
(A) +'! :: X (B) Xs :.- - T B (B) X’ =3 -
(C) = (D) Ty (D) T

afe ‘P’ @ e -+, R @t s+, T @ 39
A V' @ I

W 12V4R16P8T6="7

(A) 44 B) 28

(C) 32 D) 50

=‘ +, X s
If ‘P’ means “+’, ‘R’ means ‘+', ‘T’ means -’

and V' means ‘x’,

then 12¥4R16P8T6="7
(A) A4 (B) 28
32 Q(D) 50

4

[12]



3w

¥ Paw w1 T = R sepfal wem w0 @ §

o

0 Lox

Yz b 60
Y Horinw-go

Piars
.mﬁﬂwa@ﬂﬁwﬁwﬁwmw

18-6 O

5% popriks

4043 Zg 2
Directions : From Q. No. 76-90, Analyze the figures

and indentify the rules followed by the Figures. Also
aun Mww H Rrew ot qu ’\cyét‘hemissingﬁgure of the matrix.
76) 7
s ]| % \:1 Vs |e|
: H ‘/. A
V|2 % h * V| 2V J
V N < > V N < >
(A) B) ©) D) \(&)/ B) ©) D)
2 1
77) 2
* 1O | * 1O
35 12 T
9
MR 34 -4 2 7/
o-ii 2
L &
@  ® (© D) | \/ @w ® o o
78) 78)
vV | W vV | W
N\ | ? N\ ?
@  ® (© (D) B (© (D)
NE-10001 (Part - I) [13]

P.1.0.



VVV

VVA

VAA

SIAV A

°

> |

O

A) ®) ©

81) ww R

D)

D

=

L’&Asﬁon Figure

<
<
<

>
<
<

>
> .

-

<

VVA

VVV

DD

(A) B) ©)
NE-10001 (Part - )

D)

[14]

Answer

Figure

<
>

>
<

<

>

(A)

3V AA
BAVA

" (B)

An Figure

ke;

A,

>

Q

A

?

Answer Figure

A\

O

® © o7
Question Figure
Q| ?
Answer figure

DB

D

(A)

B)




82) we st
A A
AA A AAA| A | o
A
IW arghal |
AAAANAAA] A |AA
(A) ®) ©) (D)
83) wwa sfoat
U |00
| |0
(L1 |{mf 2
I e el
I | (I I 0o
(A) (B) (©) D
84) w wpfoat
=
: 0 >
I v ol
(A) (B) (©) (D)

NE-10001 (Part - I)

-P\SZ) Question Figure

A

AA A JAAA

>D>D>
>

Answer Figure

AAA/A AAA| A

V) ®
Mu re

0 [m]om|
(11 | 0
(|| 2

Answer Figure

A A

(D)

(©)

HAHT ATTETA| BRI

2 | &

& ) (©
Agu re

=
0|2

[L1]
i
®

Answer Figure

&Y |

N (B)

(©) (D)

P.T.O.

[15]




85) wva nepfoal
Ol 0]
s sl
A0S O
(A) ®) © D)

ﬁim:(Sﬁ-%)ﬁ&n&m‘iﬂmmﬁu‘fﬁa

mmﬁﬁﬁtmﬁaﬁmﬁwﬁaﬁgﬁil
86) wya nepfeat
ladlV:a ki
I e ot
@ ® © O
87) wa nepfaai
__)
> |2 || ?
— |«
_Tﬁltan'{f?ﬂﬂ
= > | < |
= | | < |
“ |2 |2 |
« | | 2> |2
(A) ®B) ©) D)

NE-10001 (Part - I)

4\8})4&@ shapes

Answer shapes

/\

(A)

O

D)

=

Direction (86 - 90) In each of the following
questions which one of the answer figure should
come after the problem figure:

#&ﬁ,\éﬁon Figure

Answer Figure

B)

Vi

] Ve,
O\ B\
}/) ® © ,o
) Question Figure
._)
. 04
- |3 ;) )
Answer Figure
=5 1= | < |2
= | | £ =>
< |2 | 2|
&« 1 = = | —»
K ® © O

[16]



me:ﬂ)?
dannr

*~

s '
|
® (© O

fdw : (91-95) MR RA M Rel § Waw w qu
wH g R wgw IRl
P

91) olalo
Gio|o
O 0|9

(A)

| Q| X

(A) B ©
NE-10001 (Part -.1)

®

D)

[17]

88) Problem Figure

A| 4

Answer Figure

1D

(A) (B)

-,

©)

89) Problem Figure

LL

Answer Figure

A {

&)

(A) (B) ©
90) Problem Figure
(0 Y| 9
Q ot e °

Answer Figure
&\ 7
a ® YO O

Direction (91-95) In each of the following
questions, find out which of the answer figure
coprplete the matrix.

1 ik
Q1 QA |O

Glolo
IR

o | 0| O

B)

(A) ©

P.T.O.



92)

| |
@ ® O O
NE-10001 (Part - I)

94)

P OO|g
O O|d
ojal?
OO |0 |0
(A) B) ©) (D)
93)

@a ® © O
X0
- 9
@& @& G O
NE]
02
S| B @‘@
|(A) 5 © O

B-2



= 3f -
[ [V [ S
L/ TN 4
A/M B) (©) (D)
97) = 9 = 3@ fRA
(A) B) ©) (D)
Aaﬁmﬂﬁﬁ
A O+ + I8 O w
O AlI” T8 Plne W
(A) (B) (©) (D)

~99) Fiw wg W @ SR -

&

(A) (B) ©

100) R g = 7@ fRA -

(D)

| /

”
—

A ® (© (@D

NE-10001 (Part - I)

99)

B-2
96) Choose the odd figure out of the given.
/| | &
AN
) B (© (D

97)  Choose the odd figure.

SI|D
e

(&)

g

D)

98) Choose the odd figure

S O
)

A
O

o
Vi)

(A)

Choose the odd one

K

B)

(A)

100) Choose the odd one

/

=

®B)

=z
(A)

© O

[19]



1)

2)

3)

4)

6)

NE-10001 (Part-II) . = %tf

giten i : NE - 10001

an : 11, Stferes Traa
PART - 11, SCHOLASTIC ABILITY TEST
Wifaes v
PHYSICS

qUTa-gaz I STeTehal #9127

(A) == (B) =gawam
(C) =ga=m (D) vy=
kT & e & vH. A, T At
(A) == (B) Zwm
(C) w2z (D) =fm

af2 freft g g ma A g g v @, MImEg
foreenam grm |

(A) =

(B) vy@Td

(C) “=nra

(D) vAAawn T @ wEm e |

Fr=ferfaa o & wimm v s am 27
(A) Fgaam

(B) @ @@

(C) vamaw

(D) fEmaE=

gt & faredt @01 3 foTg weTaa 3 W e
(A) 7km/s (B) 1.1km/s
(©) 11.2kmss (D) 112km/s

WA U I9g oiet e & wen | feen @ @t 3wl
e 3

(A) wedg
(B) =i
(C) wwmwAR
(D) 3 &= 7

gy * A

-

1)  Conductivity of superconductors is:

*f \_)BJ/ Very large

© (D) Zero

Infinite

Very small

2)  The S.I. unit of magnetic field intensity is:
"A) Weber
(C) Oerstead

Tesla
(D) Gauss

3)  If the distance travelled by an object is zero,

then the displacement of the object is:
zero

(B) notzero

©

(D)

negative
may or may not be zero

4)  Which of the following is non-conservative
force?
(A) Electrostatic force
(B) ravitational force
Viscous force

(D) Spring force

5)  Escape velocity of a particle from the earth

1s approximately.
(A)  7km/s (B) 1.1km/s
11.2 km/s (D) 112 km/s

6)  When a satellite falls to an orbit of smaller
radius its kinetic energy:

(A)
(B) increase

g/@/‘ remain same

(D) none of these

decrease

g

P.T.O.



7)  forow & vy @ e ot vk feron feaet A gpendl
27
(A) wHam -~ (B) @ram
(C) daam (D) =Ea@
8)  irah siE a0 FE A 27
(A)  seed
(B) g
(C)  nifyrer sraed snfore e
(D) 37 & g 7
9)  Fwtl @1 FHIA G S ZEIH HAATE |
(A) =4 gEm
(B) frarse
(C) wn
(D) weiferan
10} foer & @i gt 1 JuuE e 27
(A) =’ (B) §d
(C) Ipwu (D) W R
11)  gvaavig & Fradt it w a2
(A) @ (B) @
(C) dien (D) it
12) e vl & awi s fin @2
(A) 3 (B) 2
) 4 (D) 5
13) 1kWh frms amm g 22
(A) 3.6x10%)
(B) 3.6x10°]
(C) 3.6x10°]
(D) 3.6x10"]

NE-10001 (Part-II)

B-3

7)  How many time does a ray bend on passing
throygh a prism?
A)  once (B) twice
(C) thrice (D) none

8)

-

Waves inside a gas are :
(A)

(B) gransverse
partly longitudinal partly transverse

(D) none of these

longitudinal

9) Choose the source of energy which is
different from others.
(A) Sunlight &
(B) Falling water &
(C) Wind &
\})/Pctmlcum
10) Which is called Earth's satellite?
&M/mmn (B) sun
(C) venus (D) mars
11) Which is the colour at lower end of visible
spectrum?
(A) red (B) green
(C) yellow \_)D(viulcl
12) How gy planets have ripgs aegound them?
v 3 2
) 4 (D) 5
13) 1kWhequalsto: ‘:
(A) 3.6x10"] <
(B) 3.6x10") Ql\/,SJ
\_,(_.Gj/f{() % [0°] ejx/
(D) 3.6x107)

[4]



W& 9 B-3

CHEMISTRY
14)  Tafertan H @ ¥4 frvga waa wafifa sm 14)  Which one of the following will show
(A) e &1 Ot Tyndall Effect.
A) Solution of salt
(B) =m ( '
(C)  wiw wethe @ e %’g‘:kl ] .
; : . olution of copper sulphate
D) R (D) None of the above
15)  Fraferfiga & # w faeraa @ - 15)  Which one of the following is solution.
(A) T (A) Soil
(B) vadwe (B) Aerosols
(C) =wen (C) Coal
(D) @i Soda-water
16)  Awiiform aeivgs @1 marafies ga faRan 16) Write chemical formula of Magnesium
= Chlorid
(A) MgCl, (B) CaCl, ng ® cacl
(C] (‘u( NO.‘}: {D) CaCO:‘ (C' CU!’NO_,)! [D) (_11'_1(:01
17) v aea & wweenfies o gid § 17)  Isotopes of an element contains
(A)  =ur wifies o (A) Similar physical properties
(B)  fira vmamafies o (B) Difterent chemical properties
(C)  ~gerl &1 Jrem Hem \@em \.Le)/g;ﬁ’crcm no. of Neutrons
(D) fore oy wean (D)  Different atomic number
18)  Cl~ stwa W st stk - sedari ) weean 2 18) Valency electron in CI- ion is
(A) 16 (B) 8 (A) 16 BT 8
<) 17 (D) 18 < 17 (D) 18
19)  wifeam = aft stagifes Bram B @ | 190 Which one of the following is correct
(A) 2.8 (B) 8.2.1 clcclruniccnnfigurulimlQf.\‘udium.
O 218 D) 281 (A) 28 (B) 8,2,1
&) &l 0 &8, ©) 2,18 P 28,1
20) w& & sitfes srEeen 0°C w 20) Physical state of water at 0°C is.
(A) 3m (_AAT Solid
(B) @za (B) Liquid
(C€) m (C) Gas
(D) 3ugam (D) None of the above
0 \
NE-10001 (Part-1l) ~, . {5] P.T.0.
» H M H



22)

23)

24)

[ &)
n
—

26)

NE-10001 (Part-II)

faeaa ?

(A) =i fasor
(B) avamwi fason
(C) =egsd

(D) Iuda |l
argﬁwﬁmuzaﬁm‘ltgem%mwm%
(A) wTEt HEaA
(B) arsdiaon

(C) wauEh

(D) =

forer o =t | HOTEA 2
(A) Na'

(B) CI

(C) H

(D) Wﬁmﬂﬁ

getarz &l A 1 2
(A) HH.ZEA
(B) @A

(C) Hreman

(D) 3uder &1 T8

foreft e 1 Tufeera sifuan getagHl il HEa
o a2 |

(A) 2’

(B) 2n’

(C) 2n'+l

(D) Iudaa &3 e

e i gerargl @ o freEm @
(A) 24

(B 222

© 4.2

(D) Fude o A =S AE

21) Solutionis
(A) Homogeneous mixture
(B) Heterogeneous mixture

(C) Colloidal
M' of the above

22) Components present in air can be separated

by
-/('ﬂ] Fractional distillation
(B) Evaporation
(C) Boiling
(D) None

23) Which one of the following is

/Aﬁ/f‘iu’
(B)y CI
@ I,
(D) None of the above

24) Electron is invented by

LAY ].J. Thomson

(B) Dalton
(C) Niels Bohr
(D) None of the above
25) The maximum number of electrons in a shell

can be shown by

\/Nﬁ 2’
(B) 2n’
(C) 2n*+l
(D) None of the above

26) Distribution of electrons in carbon is as follow
KT 24

(B) 2,2,2

C) 4.2

(D) None of the above

(6]



BOTANY

27) el FEEEAE 27) All fungi are

(A) wEsrEt (B) A=t (A) Parasites \Mpmphytcs

(C) weeie (D) am (C) Symbiont Heterotrophs
28) it firga @ sTEE 28) Anexception to cell theory is

(A) Ham (B) faam (A) Bacteria 7 Virus

(C) vam (D)  Ioaaa Tt (C) Algae (D) All
29)  ToTR i T EE g 29) Chemical composition of chromosome is

(A) Fva.umenfeieg (A) DNA and lipids

(B) #1.07.0 A FEREEEE (B) DNA and carbohydrates

(C) wtdaaen fafaz (C) Proteins and lipids

(D) #.ua.uau deE \MA and proteins
30) #vAu gt (afrEf) s dm 2 30) DNA replication (synthesis) occurs in

(A) < aeend (B) UR. e (A) G-phase LMBT~ S-phase

(C) W-23mend (D) Ud. e d (C) G, phase (D) M phase
31 —,ﬁmtu_xfpﬁg 31) Bacteria'eaters' are

o= . ;
(A) fam (B) e \/W\K\flrus (B) Bacteria
Fungi D) Alge

(C) =wa® (D) &= ) Fung ) e dé-
32) frdiwafim? 32) Cristae is associated with

(A) w®d (B) weinremzd (A) Nucleus (B) Chloroplast

(C) = fufaa (D) wEZEEm (C) Cell wall \Mitochondda
33) Tl A A & AR T 33) Association of algae and fungi forms

(A) wTEERIES (B) wmgeA (A) Mycorrhiza V(Lic‘;en

(C) 9m (D) Fa3Ew (C) Flower (D) Bio fertilizer
NE-10001 (Part-II) [7] P.T.0.
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35)

36)

37)

38)

39)

40)

NE-10001 (Part-1I)

uiftfeufaes @ sl vaw g 2 |

(A) am-fegnais

(B) dm-fewnatid

(C) a-fawmaid

(D) uwfemd

o Favirgur forea gafia @

(A) B&H3mwmA (B) TEHYAINH
(C) wEHRB=A (D) IqtrE aHt
fra W & w3 @ 1w fava & agd o=
(et aii) & ford smerdt 3¢ @

(A) CO, (B) O,

(€) NO, (D) N,
FRA-SIE qr A g

(A) wivemfaesftd  (B) @wd
(C) wwifyemzgad (D) =nifvrem fufa
TAGHIATGIH FlA1 2

(A) wgZmmtugmid  (B) Hwomgad
(C) wgwd (D) weiriTe §
QIEq W o1 INGE g

(A) e

(B) oot

(C) sz

(D) Ve

v AR, F v d, | ufEfia g wam g g
(A) G

(B) ==

(C) Zat

(D) @R ¥

34) Energytlow in ecosystem is B3
k/f(i:]tru directional i
(B) Tridirectional g
(C)

) Uni-directional

Bi-directional

35) Absorption of water is associgted with
(A) Root apex f/Rnul hairs
(C) Bark of roots (D) Al of these
36) Which gas is not responsible for global
warming
(A) CO, (B) O,
(C) NO, \y)/ N,
37) Lipoprotein is found in
Cell membrane (B) Nucleus
(C) Cytoplasm (DY Cell wall
38) Glycolysis takes place in
(A) Mitochondria Myluplasm
(C) Nucleus (D) Chloroplast
39)  Amphibians of plant kingdoms are
(A) Bactena
(B)  Gymnosperm
il Bryophyta
(D) Algae
40) When ATP is converted in to ADP it releases
(A) Enzymes
(B)  Secretions
L Energy
(D)  Hormones

(8]



41)

42)

43)

44)

45)

46)

47)

48)

NE-10001 (Part-11)

gfagrE

HISTORY

e & R 3R wal foem snen & faune weet g
fawmfma

(A) @R (B) adesRr

(C) TR (D) s
TitdarTe o fren @ v uftes @

(A) astoen (B) 3=

(C) === (D) @esit

39Tt & Tt & feaet ad ang wfem @1 gg
Za

(A) dra=d (B) vuamad -
(C) HwB=d (D) 13 =d

wid & wa &t Fmior fe s ?

(A) wfga (B) wemreE
(C) wfgen (D) 3w
farsrm BT w5 HETeE o ?

(A) @@l

(B) ==wwA |

(C) =@Fi(A)wE(B)

(D) FwreEnd

AraEd E g

(A) wmiH (B) wdgq diedl 1§
(C) wgentd (D) o | &g T
S A =e | owyw w8 1651 3. | el wenfaa
el

(A) wweR (B) wfferam

(C) =ifam araw (D) aea
geudifa A Fa gafua 22

(A) dehem=

(B) o seag '

(C) e asrsiet

(D) = wHafeE

e

41)

42)

43)
-

)

45)

46)

47)
o

48)

[9]

B-3

The Harappan towns and cities were divided

in to large blocks
Mectmlgulm‘

(A)
(©) (D) Semi-circular

Square

Circular

The most famous centre of learning during
the Mauryan period was
( Taxila (B)
(C) Nalanda (D)

Ujjain
Vallabhi

In which year of Ashok coronation did the
Kalinga war take place

(A) Fifth year (B) Firstyear
(C) Eighth year M{ecmh year
Who built the stup of Sanchi?

(A) (B)
(C)

Mahamogallana
Ashok

Sariputra
Mahinda

The tounder of Vijaynagar kingdom was

(A) Hariharl
(B) Bukkarayal
)  Both (A) and (B)
(D) Krishnadevraya
Taj Mahal is located
In Agra (B) Fatehpur Sikeri
(C) InDelhi (D) None of these

At where Britishers established the first
factory in Bengal in 1651 A.D.
(A) Hugli (B) Murshidabad

(C) Kasim Bazar \py/Culcuna
Who is associated with the policy of Doctrine

of Laps
(A) Lord Hastings

*_BT Lord Dalhousie

©
(D)

Lord Wellesley
Lord Comwallis

P.T.0.



49)

51)

53)

54)

L.
NE-10001 (Part-IT) 49% [10]

AT 219 w1 T e A1 g ot

(A) wil (B) @At
(C) foragh (D) =R
ot weadt ag fomm s @ i S o
(A) e (B) w4
(C) wforerfoten (D) Iudra @it
i fader @ anafas am e ?
(A) Tz

(B) ¥ vt

(C) T aZeaE

(D) wgwigm

23 @18 1 806 i Tgviat HIAIE &1 T4 Fgl g3
or ?
(A)
(C)

= A

watferat

(B)
(D)

AT
JeaEgt

et St @Rt wrgrea &t arf feea A
(A) TwraET

(B) w5 forom

(C) ez &

(D) |wM u= ™

fravat & v 7 e =1 99 yeam: s 27
(A) TEE AT HgE

(B) ww@ER A

(C) woTer 3wt

(D) wgremn R

WA @ HfauT wa s fa mar
(A) 9 femvar 1946
(B) 16 3mma 1947
(C) 26 7avaw 1949
(D) 26 w==d@ 1950

d

B-3

49) At which place was Tantya Tope hanged to
death :
Mmmi (B) Kanpur
(C) Shivpuri (D) Sagar
50) Rani Laxmibai was also known as by which
name
(A) Chhabili (B) Mg
(C) Manikarnika M:; the above
§1) What was the real name of Swami
Vivekanand
Narendranath
(B) Mula Shankar
(C) Gadadhar Chattopadhyaya
(D) Mahes Das

Gl

yChundra Shekhar Azad was born on

/ 23“" 1}’ 1806 at
N A) Jhabua

(B) Bangagaon
(C) Gurudaspur (D) Gwalior
53) Who gave the title of Mahatma to Gandhiji
(A) Romain Rolland
(B) Louis Fisher
(C avindranath Tagore
(D) Subhash Chandra Bose
54) The credit of merger of states in India goes

to?

(A) Jawahar Lal Nehru
(B) Sardar Patel

(C) Fazal Ali

(D)  Mahatma Gandhi
55) When was the constitution of India adopted
~ (A) 9 December 1946

(B) _ 16 August 1947

26 November 1949
26 January 1950

\05‘06 '
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56)

57)

58)

60)

el B-3

GEOGRAPHY

wEA 2 aegl @l

(A)
(B)
(©)
(D)

urEa ArEvaeEAsl & Hfe wi
Fareit Fifrm sqavadl 01 o it
wrE wedul & foe savas @
ERDELE ]

WU GO AP

(A)
(B)
©
(D)

HHEI] w1 I A HE
qaTuHl i gHiga van

HATA & G T
waTH! R Hafea Iaan

WA & Had 741wk A9 ¢ |

(A)
(B)
(©)
(D)

e
qig
e
ATt

T ey T fea 2

(A)
(B)
(&)
(D)

IR
HAY
LErdic]

ES

wure & fero Togea fugi 2 |

(A)
(B)
(©
(D)

et forgt
e ford
Az

NE-10001 (Part-1I)

56) The resources are those things which :
(A) Satisfy human needs
(B) Full fill some specitic objectives

(C) Are needed for the human welfare

\/{D/Aﬁ‘lhc ubove
y

57) Meaning of Resource conservation is:
(A) No use of resources
(B) To keep resources reserved

L}Q/Prcvclu misuse of resources

(D) Balanced use of resources

58) The major natural hazard of India is
(A) Drought
(B lood
(C) Earthquake
(D) Volcano

59) Kagiranga National Park is located in -
(A) Uttar Pradesh
\_/(B‘(Ass;un
(C) Rajasthan
(D) Orissa

60) Suitable soil for cotton producuon is
(A) Alluvial soil
« (B~ Black soil
(C) Redsoil
(D) Laterite soil

[11] P.T.0.



61)

62)

63)

64)

65)

fta swifr & s 2 |
(A) BLERE
(B) famerias
(C) i e
(D) fraaa

did gl 1 HAT 2 |

(A) @ At 3earea |
(B) wdAl@Ea#d
(C) wgueAd

(D) wael A |

@iw &1 EEA 2 |

(A) =Ed, "1, Jerhl
(B) g , =, it

(C) e, 9, &l

(D) v, &, JEl

ot @A 2 |

(A) @@

(B) @

(C) A¥=

(D) =ren

FIA |1 TN Alg Haen o afarfed @i 22
(A) FwerEe

(B) #wezz

(C) fomree

(D) femmgz

NE-10001 (Part-1I)

61) Father of Green revolution 18
(A) Dr. Bennett
(B) Billcox

Mm-.m Borlauge

(D)  Nixon

62) Yellow revolution is related to
Oilseeds production
(B)  Fruits production
(C)  Sheep production
(D) Fish production

63) Kharif crops are
(A) Rice, Millet, Maize %
(B)  Wheat, Gram, Jow }
(C) Jute, Tea, Coffee L

( Tobacco, Rubber, Linseed

64) Metallic Mineral is -
A)  Iron

(B) Diamond
(C) Mica
(D) Coal

65) Which type is not included in iron-ore

(A) Hametite
(B) Magnetite
Minu nite

(D) Lignite

[12]



66) wEwTE faaon yonE @ ST AE 2 |
(A} sfan yea bt e

(B) S TqviE YUSR

(C)  gwarsm

(D) aw =

67) WA H # IearEd § ugw 2 |

(A) wEagam
(B) fagm
(C) FaTwew
(D) 3=
68) armg ufie |
(A) e
(B) #R
(C) e fagm
(D) w=EAFa

69)  =fequr wwE H g wE e A g e 2|

(A) fafeemae
(B) vz
(C)  fowamgm
(D) Tz

70) uftag & g gEa weEa FEHE g |

(A) =g uiEe
(B) =& ufag
(C) e ufiag
(D) wga ufEg

NE-10001 (Part-11)

[13]

66) Which is not a part of Public Distribution
Svstem.
(A) Proper value shop

(B) Co-operative customer storage

\/LQI/S:[;:r market

(D) Butfter stock

67) First rank of Diamond Production in India.
\_/r( Madhya Pradesh

(B) Bihar

(C) Uttar Pradesh

(D)  Orissa

68) Tarapur is famous for
mcltill‘ electricity
(B) Solarenergy
(C) Hydro electricity
(D)  Windenergy

The manchestor of cotton textile in South
Indiais called -

(A) Secunderabad
U,B‘)/C oimbatore
(C)  Thiruvananthapuram

(D) Guntur

69)

70) Which is the cheapest means of transport-
(A) Air transport
\MC]' transport
(C) Rail transport

(D) Road transport

P.T:0.,
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CIVICS
71) o 201 & v =t fava GaE) & T e A E | 71)  Which country's parliament is treated is the
(A) e yn world parliament.
(B) ®a A) America
o (B) Britain
(C)  India
SRS (D)  Switzerland
72) wfEuT  aieE F A - 72) Who protects the constitution-
(A) e AT Judiciary
(B) wawiiue (B) Legislature
(C)  wdafe (C) Executive
(D) form smEm (D) Finance Commission
73)  vitferes wfiren i fea e a fem 22 73) From which country did we adopt
(A) g fundamental rights?
(B) W (A) England
(B)  China
((E}) 1*::;3 __ErUsA
(D) Treland
74) U ATy feRa GO A T T WAl 2 7 74) How long can an ordinance remain in force?
(A) d@FHR (X1 Three months
(B) =mAR (B) Four months
(C) qiaHR (C) Five months
(D) w:urR (D) Six months
75) wem gt mongfd 2 - 75)  The quor quirement to the Rajya Sabha-
(A) 25 \_/‘Yzw
(B) 50 (B) 30
(€) 75 © 75
(D) 100 Q&Q (D) 100

NE-10001 (Part-11)

[14]
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ECONOMICS

76)  Taresh fafiera de @ upm e g o
(A) o wdfier Fen
(B) = 3w
(C) gz fafamg w5
(D) 397 as

77) v geen fa § -
(A)  smyauii & ford
(B)  #fa veami & fora
(C) Fitaeis fom
(D) farreht & 3uson & forgy

78) I AnTOT AR TR F kT 8 TS9O w

AR - _
(A) 150 feam
(B) 100 fa=m
(C) 200 feam
(D) =

79) AR & faream d wevaw g § -
(A) uftega & |um
(B) wum s
(C) e va farfra deamd
(D) 3wirEw wit

80)  fava zamm we v gd § o
(A) =d 985
(B) =d 1995
(C) =d 2001
(D) =d 2005

76) The main function of the Foreign Exchange
bank is:

(A)  Receiving the deposits

(B)  Advancing loans

(C)  Exchange of money
All above

77)  Agmark securi ty icon is:
(A) forJewelery
. for agricultural products
(C) for woolen clothes

(D) forelectrical appliances

78) Employment is provided in the National
Rural Employment Guarantee Scheme for-

(A) 150 days

M days

(C) 200 days
(D) One year

79)  Expansion of the market is sported by -
(A)  Means of Transport
(B) Means of Communication

(C) Bank and Financial Institution

\)B‘)/All of the above

80) World Trade Organization has been

established :
MSS year
\xﬂ/lf)% year
(€) 2001 year

(D) 2005 year

NE-10001 (Part-II) [15] P.T.O.
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NG
81) Numberris termed as Rational number if it

§1) s ;@ v e w4t 2 s
i Foran < wawAT R, W p 3R gUites & A

(A) p=0 (B)y p=0
€ q=0 (D) q#0
82) a@ap{x):z.wlanvguai%:
l o 1
(A) —5 (B 3
) O (D) =
83) ﬁﬁ[l,Z)ﬁgﬂﬁaﬁﬁWWSﬁﬁm%:
(A) 1 (B 2
€ 3 (D) =
84) @mﬁﬂﬂﬂ“%ﬁvﬁ%quﬁumﬁmaﬁ
areft FTHA 2 2
(A) A (B) =
(C) 7a (D) w@ T
85) fumii frard g @ smaan @ gm, g wedw
w1 &l e 3 AL 2
(A) 3&d’
(B) 27 @it
(C) 15 &Y’
(D) 405 o= |+t
86) ﬁga%aa}ammaﬁmqg%:—
(A) ’.»‘”2(STIUT!><*HT§)
(B) J.s‘(x—a)(.\'—b}(.\‘—rj
- a+b+c 4
@ —
(D) Js.abc

NE-10001 (Part-IT)

[16]

r
can be expressed as . where p and g are

integers and,
(A) p=0 (B) p#0
(C) q=0 ' qz0

82) Zero of the polynomial p(x) =2x + Lis:

\// 1 I
) 5 (B) 5
<) 0 (D) =
83) Number of straight lines passing through the
point (1,2) 1s:
(A) 1 (B) 2
C) 3 x

84) Shape made by the bisectors of angles of a
parallelogram s.

(B)

(D)

Rectangle Square

(C) Circle Straight line

85) If side of each cube is 3 cm. then Volume of
given figure is.

(A) 3cm’
(B) 27 cm’

() 15em’

\)D‘f 405 cm®

86)

Hero's formula for the Area of triangle is:

(A) V2 (Base x Height)

f\f\ s—a)(s—bh)(s—c)

a+b+4c¢
(C) —",}‘—
(D) Jsabce

5X3Kk 2 \
IS



87) wmvsviHrae nan g ga@aasgarg: | 87)  If the number of observations n is even, then
" i I (}k‘b median is.
(A) &t Sy \(‘f‘* n-+-1
t*’ (A) [ 5 |"term
(B) ] = S % n
0. @J{* (B) IE}”‘tcm]
n n
(©) :]ﬁt{é[;'i_lléﬁavﬁmm i ”
) ) A Mean of [ J"'mld [—'* |]”‘ term
(D)  Iutier &I g \_/(‘/ 2 2
(D) None of these
88) for=l +ft it s ww wiga wEna @ e | 88)  Product of any three consecutive even
for v a wrm g 2 numbers is divisible by
(A) 2 (B) 4 (A) 2 (B) 4 .
© 16 D) 12 ©) 16 Or 2 . gadt®
Y
89) vt mforerst s gr A v R 89)  Indian Mathematician Varahmihir wrote the
(A) 3w W ) {A) Arya Bhattiyam ¥
(B5 o i (B) Panch Siddhantika
(C) wiwERETE \_/(-e‘)’"(}mutm wr Sangrah
(D) e (D) Leelawat X
90) =guE 3x? - x'—3x+ SWx- | - AWmMAAW 90) Remainder on dividing polynomial
A g 3¢ -x'-3x+S5byx-1-x%is
A) 7 (B) 3 (A) 7 ABT 3
(€ 0 (D) 2x+5 © 0 (D) 2x+5
I
91) v fira .;_ ATt i 3Eek 3w A | vz [ 91) A rational number becomes 3 on subtracting
|
s ag .}I A1 e 2 v god § e R 1= 1 from its numerator and it becomes 2 when
i 8 is added to its denominator, the rational
number is
5 I
— — 5 I
W 1 ® 1 @ = B
© — ™ > !
12 17 © 3 D) 15
W o
3 .
NE-10001 (Part-l) 4“7l P.T.0
st -2 +8 4 Ll‘x_ :g +§ = --.E.)__._,
¢ n d Hu=3A-%48 n=s

3 ) X& 3
L\*"/@ﬂ_@“ "”{M (“‘"‘htw @%i

1 &
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92)

93)

94)

95)

96)

97)

NE-10001 (Part-11)

a siegt et febaet v 3 @ fawrea @
(A) 30 (B) 32
(C) 40 (D) 35

y-av wt feora farg <1 Pt (6.5) 7 (—4.3) 3

wware g, & favi €
(A (9.0 (B) (0.9)
© @G2) (D) (0,0)

Sec A (1-sinA) (secA + tan A)FIHE R
(A) O (B) 2
) 1 (D) =

ek ) i firerz g o e |4 anh 2 g g g

5 fire  vfam e g

154 )
(A) N (B) 154

215 205
© 5 D) —3
TOW 1) WA HEATH! WA E

~ n(n+1) n+1

(A) = W

n n(n—1)
© 5 (D) 5=

o afa 1 3 i, 2 we A 4 oA F E | 0
el AT FrewTer AT @ Al e o W g
i 2

3 2
(A) 5 (B) g
2 2
(&) 9 (D) 3

[18]
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92) How many numbers of two digits are divisible

by 3
\/m/o

(Cy 40

93) Co-ordinates of a point on y-axis which is
equidistant from the points (6.5) and (—4,3) are

(A) (90 ) (09)
(C) (3.2) (D) (0,0)

94) Value of sec A (1-sin A) (sec A + tan A)is
(A) (B)y 2
I (D) =

95) Length of Minute hand of a clock is ld4em.

Area formed by this hand in 5 minutes is:

o B) 154

(2 3 (B) 15
) 215 205
(C) 3 (D) 2

96) Mean of first n natural numbers s :
nin-1) n--1
li'\] 9 ) = ,)_-
_.n  n(n—1)
(C) 5 (D) - ?
97) A box contains 3 blue, 2 white and 4 red

marbles. A marble is drawn randomly.
Probability of getting white marble is.

3 2
(A) ; (B) p
) G (D) -S

7o\



98) frerd @ sren e gfia

(A) =it avang g aufzag fem e ¢
(B) % ufria wwa quites zr#t # |
(C) =it qurtes afidrs v 3¢ 72 |
(D) 3 wwfang fryst wwamg g

99) qazﬁrm?murqﬁlﬁtﬁaagfﬁmﬁﬁﬁﬁmn%
Forer @1 ssmm w0 60° 2 1w R S
(A) 15 e
(B) /3 #ex
(©) 153 iz
15
(D) fﬁ’m

100) semsHifigdiwm naivz g = (3 + 2n) 2 | vem
24 9zt = 9w Em,
(A) 672
(B) 670
(C) 570
2%
(D)

\ E 'l

S+H43

B-3

98) Choose false statement from following:

(A)  All equilateral triangles are isosceles

triangle

(B) Some rational numbers are integers
) . All integers are not rational number
(D) Some Isosceles triangles are equilateral

triangles

99)

Angle of elevation of a tower from a point at
adistance of 15 meter from foot of the tower
is 60°. Height of tower is

(A) 15 meter

/3 meter

(Cr” 1543 meter

(B)

15
7= meter

)
® 7 A

1ISm

100) n* term of a list of numbers is given by
« =(3+ 2n). Sum of first 24 terms will be

672
(B) 670
(€) 570 {
(D) 572
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